FINITE MATH
Quiz Review 2.1-2.2
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SHORT ANSWER. Write the word or phrase that best completes each statement or answers the question.

Use the echelon method to solve the system of two equations in two unknowns.
1) Bx + by =70

=3x +3y=-12 ) . 5\‘}(1— 5-(55):%
3(5x+Sy =Po) =7 ISX+iSy =210 5x+1LS = 10
5("3}(+3y =~12) =2 +(~5X + tS‘y = ~(0) -2< -85

SX=45
,,,I:'OO =

boﬁlm Cq—_] | Y =5 | X=9

Write the augmented matrix for the system. Do not solve.
2} 8x +6z=120

© 9y+dz =44 r 8

Bx+7y+9z= 54

0
0 G 4 |44
s 7 9

Use the indicated row operation {0 change the matrix,
3) Replace Ry by Ry + 2Ro.
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Use the Gauss-Jordan method to solve the system of equations,

4) 3x+3y= 0
Sx +2y=-12
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5) bx- y+2z=21
=5x + 7y =32z= 12
Tx-4y+ z= -5
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